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ABHINAY MATHS CLASSES

Percentage / Aia9Td

2 Q7. There were two candidates in an election. 8% of
Q1. After an increment of 165% in the cost of a voters did not cast their votes. The winning
machine, it becomes Rs. 4900. Find the initial cost candidate secured 48% vote of total votes and won
of machine. by 1100 votes. Find the total votes.
T g9 H I IHIZAR &1 8% Famis = STqA1
Wﬁ@‘?‘x’ﬂ?ﬁmlég%%ﬁﬁ$aﬁ dic & e Sia a6l SEReR 7 o die &
48% dIE TR TR IFHIAR &1 1100 dlE § 84
;zgox.ﬁarcﬁ%?hmﬂqaﬁaﬂmmmﬁ A -———
’ Q8. There were two candidates in an election. 10% of
Q2. A student required 36% marks to pass in an voters did not cast their votes. 10% of the votes
examination. He scored 24% marks and failed by polled were found invalid. The winning candidate
18 marks. Find the passing mark. got 54% of the valid votes and won by 1620 votes.
ek foneft i T qhen # <ol 1 % ford 36% Find the number of voters enrolled.
e 1 e ot 3R qE 24% 3 Wb S ql Tk A H I SEIER F1 10% A A 79 die
e 18 31 W ST B T @ 3 R e T A et el T AR F 10% e 6 @
97 TR Sitad ATl SEEER S 98 ale i 54% e
Q3. Aj/student scored 30% marks and failed by 45 SR3 1620 St W S % fepart Eﬁz:{:r el
marks. Another student scored 42% marks and | Q9. There were two candidates\in an election. 75% of
scored 45 marks more than the passing marks. Find voters cast their votes, out of which 2% of the votes
the passing marks. were found invalid. A can@idate got '9261 votes
. . which were/ 75% of total valid votes. Find the total
TF T A 30% HF W9 A aﬁ—{ 45 &% | number of voters enrolled.
2R |@W|@mﬁ4z%mwmaﬁi T A H A THER H1 75% AR A S A
ﬁm%ﬁ@%wmml?ﬁa—rﬁm@ﬁ@ ﬁmlaﬁﬁz%ﬁaﬁﬁlwﬁwaﬁ
ferd e ofd i S oft? 9261 Fta el St et HY A B 75% oM 3
Q4. A student got 20% marks and failed by 30 marks. eRiCiE] el fordy 9ot 9
Another student got 32% marks and scored 42 . . . 0
marks more than passing mark. Find the passing Q 10. There were two candl.dates in an election. 10% of
i o voters did not cast their votes. 60'votes were found
mark in an examination. invalid. The winning candidate got 47% of the valid
T BE A 20% e W fRI SR 30 w9 votes and won by 308 votes. Find the number of
SFRATOT € T T B A 32% 3k Ww R R voters enrolled.
30 BH W 42 3k SR ™ Al SO B @ Th A H Y IHIREAR A1 10% @ A ST Al
o fhaa i &1 e ofi? & fa@m 60 de AU T T Tee SHTAR H
Q5. There were two candidates in an election. One got % ale & 47% dte fret siw 3e E.Sﬁ SR
41% of total votes and lost by 5580 votes. Find 1 308 4l 9 7 fE=m hel e fohad a2
the total votes. Q 11. There are two candidates in an election. 10000
w T ¥ o SEfiear 91 B 9l SEar 3 voterslficild%‘\t].cas.t their g.()(;e£ 75% O[f cz;sztgg VOICS
. are valid. Winning candidate won votes
41% dffe St fepd ST 5580 el F 2R T and losing candidite got 18% oftota}I votes. Find
& drel b1 wen foat ofi? the total number of votes.
Q6. There were two c.andidates in an election. One got Tk g | 2 SHEER ¥ 10000 < 3 279 9
.55%1‘3f1tt(‘)t12111 Vahld votes andsé(())‘?l of votes we;s T =@ 75% a9 T s SEREER 2250
mvali - the total votes are 5 . How many vali S st T ik ?«;ﬂi A el e T 18%
votes did the other person get? o .
. di Wt gUI o 9 el fehae Hawrn &7
& 999 ¥ q IHER &1 Th IFHRAR 7 |/ )
Q 12. 2/5 of the voters promise to vote for Mulayam
41 de 1 55% e W fRe SR 20% A e Singh and rest promise to vote Mayawati. On
B T A /A Al 5500 g, @"E EUSESIIECIN election day 15% of the voters went back on their
= fra e fier? promise to vote for Mulayam Singh & 25% of the
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voters went back on their promise to vote for | Q 19. A company gives 8.5 % commission to his salesman
Mayawati. Mayawati won by 1500 votes. Find the up to the sale of Rs. 20000 and 7.0 % commission
total number of voters. on the sale more than Rs. 20000. If the sales
FHd HASl $ 2/5 dic A fdg & qen 9 deposited is Rs. 42480 after deducting his
o R SR S T % foq T iz commission from the sale, find the total sale of the
% 15% HAEwl SR HEEd ® 25% Wl ST salesman. o - -
IR § YH S E a0 AR 1500 A ¥ Sia T T foshdl F1 20000 % F1 {0k
e 8.5% HHITH AT T T T FW HT faOh W 7%
Q 13. The income of A is 30% more than the income of i?ﬁ 2 af fox %l Toshl W it
B. How much percent B's income less than A's? e T HIA I 42480 T 31 2, A [@ HU
A TR BHT 3T | 30% SR $1 A B H o Ia1 F fRadt faswt w2
AH 3™ 9 T wiae w9 BrN? Q 20. A salesman is allowed 5.5 % commission on the
Q 14. The income of A is 40% less than B's income. How sales made by him up to Rs. 10000 and additional
much percent is B's income more than A's? bonus of 0.5 % on sale over Rs 10000. If his total
' earnings are Rs. 1990. Find the total sales made
Aaﬁmgaﬁm@404m%ﬁ3aﬁm by him?
AT 3T T % S E T foshdl 1 10000 T 1 fash! T 5.5% HHITH
. e . ,
Q 15. The 1nC(?me of Ais 40A)m'0r§ than B S}ncome. Bs firerr & e W TR F A W 0.5% FHEE
income is 20% less than C's income. Find the ratio
of income of A and C. ST foerdr 1 Ak SHRT HA HAE 1990 T 2
AT ST BT I 40% I 21 BHT S C @ F T ST el et fawt #12
A Y 20% Y Tl Al AR CFH | | Q21. A salesman is allowed 12 % commission on the
ST FA S sale by him up to Rs. 15000 and additiohal bonus
f 1% 1 d Rs 15000. If his total
Q 16. Income of A is 50% more than that|of B's, income P - on Sale{m%zoov}ir d Sh | sal 1S 0;
of C is 2/3rd of income of A's. Income of D is half earn¥ng9s arp 8. - Find e tofal pales made
of income of C. Income of D is increased by 10%. by him
Find income of B is what percent of income of D T fofhdl &1 15000 . T fshl qoF 129 Herer
after the increment. fetdl © e S99 S0 & fas W 1% HHTH
A AE BH A F 50% AF 8, CHl 34 S foerd €1 9% SHeRT el WA 7650 %. @
AT 3 W 2/3 T 1 DT AE CHY 1 e Al S B TR ST hel fohel fashl hi?
HA & TR T DT 3T H 10% gfig &1 Sl | Q 22. A salesman is allowed 7.5 % commission on the
%, q J1d HINT B 3™ D HI 3T i fohad sale/made by him up to Rs. 12000 and additional
e & (afs F AR ? bonus of 1.5 % on sale made over Rs 12000. If his
. o total earning is Rs. 4185. Find the total sales made
Q 17. An agent gets 5% commission on all sales up to by him?
Rs.10000 and 4% commission on all sales
exceeding this amount. He gives Rs. 31100 from T forhal 1 12000 % F1 Tkl ak 7.5% F7
his sales to his company after deducting his foerd € o 389 SR # st | 1.5% HHeH
commission. Find his total sales. e faerdn 2 afe Igh! EXl HAE 4185 % 2
Th Tl &l 10000 & Hi {6l T 5% HHE @ 9@ HU T 3T /A feadt faswt @12
ot 21 399 S0 1 fohl W 4% wHITH fHerd Q 23. A salesman is allowed 9.25 % commission on the
21 9% wet fal | HHYH w2 HL KA sale made by him up to Rs. 20000 and additional
31100 % <1 81l 0 &4 fF ST Ha fohat bonus of 0.75 % on sale made over Rs. 20000. If
o his total earning is Rs. 6170. Find the total sales
made by him?
Q 18. A company gives 9% commission to his salesman Y = = \
up to the sale of Rs. 15000 and 7% commission on REIREER 20000 % fapl T 9.25%
the sale more than Rs. 15000. If the sales deposited FHHIYH THerdr @ qe S99 S H1 fahl W 0.75%
is Rs. 32250 after deducting his commission from FHHYA S fHerar 81 afs SuH] A HHE 6170
the sa?e, ﬁr;:qgle total sale.aﬁ 5 3 T = T el fral o 2
hid Nid 15000 %. 1 Q 24. A company allows 7 % commission on total sales.
2
T 9% HHIAA < 2 A THH SR AT faOw 7% If the salesman is appointed on a fixed salary of
FeeE &t 21 AR F fost | wHieH Rs. 3000 and 4 % commission on the sales more
T HL FHIA I 32250 % 31 S A A B B than Rs. 10000, then the salesman gets Rs. 800
I Exdl fradl fasl =1? more. Find the total sales made by the salesman.
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Q 25.

Q 26.

Q27.

Q 28.

Q29.

T HUA A foshdl 1 it fashl W 7% FHHE
A R Ak 98 faskhar @i Feifa 3000 & I ¥
R 10000 %. ¥ ST T fasht W 4% Herer ¥t
%l fashdl 1 800 & SR fierd 21 FE wU TR
ST e fha faset @12

A company allows 9% commission on total sales
but if the salesman is appointed on a fixed salary
of Rs. 4000 and 3% commission on the sales more

than Rs. 10000, then the salesman gets Rs. 700
more. Find the total sales made by the salesman.

T I 79 fashar sl |t fasht W 9% HHITH
It ®1 Ak 9 fashar w1 FeifRa 4000 = & ¥
3R 10000 T. ¥ ST T okl T 3% FHRH It
@ fasar 1 700 T w1 faed €1 9@ w4
T e fE ED

A company allows 11% commission on total sales.
If the salesman is appointed on a fixed salary of
Rs. 8200 and 5% commission on the sales more

than Rs. 20000, then the salesman gets Rs. 1200
more} Find the total sales'made by the salesman.

T HYA Tk foshal 1 et Tkt W 11% HHH
A 71 A 97 faghar 1 FreiRa 8200 € < ®
ST 20000 %. | T BT foghT W 5% FHHRH <t
@ fahal 1 1200 T. ST faer €1 9@ w4
T w el =

A salesman makes a commission of a% on the first
3000 Rs. worth of sales and b% commission on
further sales. During the month of January he makes
Rs. 960. From the total sales of Rs. 700 and during
February Rs. 1110 from a total sales of 8000 Rs.
find the value of a and b.

T fashdl 1 3000 & qH HI fIH W a%
e fier € iR S5 S T W b%
FHIeH fHerar 81 SHad & WEH | ®e 7000 T
1 Tkl W IEA 960 % FHHE a2 A | 8000
T. 1 e ol W 1110 HAE| df a 3R b 1
M J@

A person usually spent Rs. 48 to buy groundnuts
for roasting and resale. On one occasion he could
buy 1.5 kg of groundnut less for Rs 48 as the price
had gone up by 25%. What was the earlier price of
groundnut per kg?

TH A EEIG: 48 T YUwiCEl i g @
fau qen e 9 =R & fau @4 w3 21 TR
IR W FE 48 T H 1.5 TRl A @lig wr ®
Fifeh qod 25% 5 Sl {1 qrwfert w1y
e T B

Rate of income tax is increased by 19%. Net

Income is decreased by 1%. Find the rate of income
tax.

AEHT HT W 19% W 9¢ Sl ¢ AR adian
3 1% W FHH B S & STFH BT 3L 1 87

Q 30.

Q31.

Q32.

Q33.

Q 34.

Q35.

Q36.

Rate of income tax is increased by 23%. Net
Income is decreased by 2%. Find the rate of income
tax.

AEHT BT W 23% U 9 Sl ¢ AN et
3 2% © HH B Sl 2 dl AFRT HT L M 87

How much percent will the area of a rectangle
exceed if its length is increased by 23% and breadth
is increased by 9%.

TH G F GA%A fha Ffavm 9¢ S, Ak
R 23% AR ASE 9% S@ & SE?

If the price of milk is increased by 35% by how
much a lady must reduced her consumption so that
her expenditure is increased only by 8%.

T H HW H 35% HI gE BH W HE TS
o T § TRt et R foh Swemt &=l o
8% W2I

In a triangle, its altitude is increased by 22% and
its base is decreased by 6%. Find the net effect on
its area.

fereht BI9S1 1 S 1 22% 9@l feo 3 Sem
H 6% 1 el Y /Al &A% T R FHeh T2
The length of cuboid is increased by 12% and its

breadth is increased by 25%. By how much percent
its height is decreased so that the volume of cuboid

increased only by 4%.

Teh S T S 12% el & Sl @ SR =g
25% =g < Sl B1 S | fohae wiaerd 1 %t
F foh AT DAt 4% TR

A labourer works for 60 hours a week. and gets
Rs. 2400 ‘as wages. If his 1 hour wages are
increased by 40% and his working hours are

2 s
reduced by 165% , then by how much will his

wages increase or decrease?
T T W TIE 60 i FH HIA € T 2400 .

TS % ®Y W W@ B S| SHE WA S
TS Y 40% o W@ T T § T W HH &
a%aﬁlé%%ﬁwaﬂﬁmw%wﬁwm

Heglt ® fohde wiaea 1 gfg =1 FH g2

. 1,
Wages of a labourer are increased bylZE % and

his working hours are decreased by 8%. Initially
he used to earn Rs. 1200 for 50 hours in a week.
So find out:

(i) His present wages per hour.

(i1) His percentage increase in his weekly wages.

foret Ty 3 W 1229 & 7 e
2 qA ITH FH FE B THT Bl 8% T FH HL
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fen S 81 Ueed 9 Wi W 50 He W
o o /A 1200 T. ASIGH I A1l /@ FL F (i)
SHHT T ANgd Wl WS A ¥ qen (i) SHEAT
Trafes wergd ¥ Fet foha e &1 9fg g8 €2

ek AR ST 3 T 6% 9T a=dl &1 & oY
oS SUHT A@ F 15% H1 Jfg et ¢ fhg ST
o= SuREtdd @l 8, d A iy SEe = |
e wfaea afs 22

Q 37. Entry ticket of a cinema hall is Rs. 250. When the | Q 43. Ratio of Rama's expenditure and saving is 5 : 3. If
price is reduced by a certain percentage then the his income is increased by 12% and expenditure is
sales of ticket increase by 50%, whereas the overall increased by 15%, find his savings increase.
collection‘is reduc§d by 17.5%. Find the percentage Tq & @4 3R 99q & S 5 ;3 2| fx
decrease in the price of ticket. SGH A 12% T@ F @R = 15% T
Wmﬁmﬁmﬁmmwzsoa%ﬁ fen WM, @ SR a9 ¥ fRa wfE 9fs
fehe & goa ® FH Bt & 79 fewe w7 faw | i
50% EI»T'T. EUSURCC ¢ wafh W &4 Q 44. Monthly income of Ramesh is Rs. 5000 and he
o H 17.5% T B B T, A fewe & qea spends it in ratio 2 : 5 on clothes and food. If price
¥ forad wfaerd & g8 of clothes is increased by 10% and price of food is

Q 38. Priceofaticket of a show of circus is Rs. 12. When mcreased by 20%{ then by how much pergent h%s
the price of the ticket is reduced then the audience 1ncome.should be.mcreased so that the ratio of his
is increased by 80% and the total income is expenditure remains the same.
increased by 20%. Find the price of ticket after T 1 HITEeh oad 5000 €. e AM AL 2 ¢ 5 &
reduction. ST H 9% qe WS W T w21 AR o
THE\® TH A 1w fowe gew 12 & B1)SE T DT 10% T TS W 20% o 9€¢ S, qr
feshe &1 gea w1 fean Sl © a9 wefehi 1 den SHET o feha gfaya | s fxan e fred fR
80% | W Wl & AU HeA A H 20% i giS 3D \5RI ! T aFqel i @Ud W HE 996 7
=l STl 1 Wk | fehe 1 \Hed o I B2 e

Q 39. /A person spends 75% of his income. His income | Q 45. Due to an increment of 20% in the price of sugar,
increases by 60% and his expenditure increases a person is able to buy 5 kg less for Rs. 600. Find
by 70%. By how much percent of his saving will the original and increased price of sugar.
increase or decrease? o F= FTa T 20% T{r@ TN W TH
Th SH A A FT75% T FA S| SR 600 % ¥ 5 fohon <t F7 @l WA T Y
T 60% T ST & IR TR @l 70% T Sl e iR Tt T AR 3
%’ q SEhT SEd fepa wferd e S A S Q 46. |Due to decrease in price of wheat by 10%, a person
Eeuil is able to buy 50 gram more wheat for Rs. 1. Find

Q 40. A person spends 80% of his income. If his income the’amount of wheat a person was able to'buy for
increases by 35% and his expenditure increases Rs. 1 initially.
wv 317 00 Bu . of his savi T % Ted | 10% HI HH BH W TH AfK | %

y37EA,. y how much percent of his saving ﬁSOWﬁiWW@ﬂ?{W%IWWﬁ
will increase or decrease? T wEd, 1 & H RN T @R S weha e
T STEHT G S H 80% W Il ¢ A | Q47. Due to a reduction of 10% in the price of milk a

! person is able to buy 6.2 /t more for Rs. 1116. Find
U A 35% 9¢ Sl ? 3R ST @d 375% the reduced price of milk per litre ?
9¢ Sl & Al SUh! Tud fehad wider sg SR gaaﬁaﬂ?ﬁﬁm%aﬁﬁ%ﬁm@ [
o T S 1116 & H 6.2 wex T S g @ €1 areft
? 5

Q 41. A person spends 87.5% of his income. His income S 11?:[ B ) )
increases by 59% and expenditure increases by Q 48. Due to an increment of 50% in the price of egga
67%. Find his percentage increas or decrease in person is able to buy 4 eggs less for Rs. 24. Find
savings. the initial cost of per dozen egg?

T Al A A H §7.5% @ H E| THR S FT BT H 50% HT g T W 24 % H 4

S 59% 9€ St & 3K IHH @ 67% ¢ S 2 S FH A T TH TS A F AT F A

IT&! 99d H 9eq A fiREe i ufqerdar 9| 12 o Db . R T
. t t =0 t

Q 42. A person saves 6% of income. After 2 years his Q ue to an increment of 16 3 % in the price ©
income is inc.reased by 15% but hiS savings rt.amai.n banana, A person is able to buy 5 bananas less for
the same. F ind the percentage increase in his Rs. 1. Find how many bananas was a person able
expenditure. to buy for Rs. 1 initially.
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®d ® I H 16%% F1 gfg 81 W TH A

1% ¥ 5 Bel %1 @OE U@l ¢ A 98 ARH | 6
4 ed foad sd @l I oar?

TF 19 3T 3 931 F1 WGE TR FT 1% 3T B
S 21 © SHH 80% oS 9 I fyerdt © 3N
3T Y 98 80% @d HTL =1 § dl SHH! HiTHE
TEG 20 . @ Sl 21 A o9 fhdA1 wAW B

Q 50. A solution contains 15% of salt, from which 30 kg | Q 57. A person gave 20% of his income to his elder son,
of water is removed. The quantity of salt remains 30% of the remaining to the younger son and 10%
20% in that solution. Find the initial quantity of of the balance he donated to a trust. He is left with
solution. Rs. 10080. What was his income?

T Sl § 15% TR 21 TEE 9 30 TRu 9 Se Tk Al ST T BT 20% T oL T HT <l
T o1 <& THE HI A 20% @ | A W 21 1T S g2 I HT 30% A BIE T I el
H foram fasor om 2 3R fRe Rt = gE ST BT 10% T TR H

Q 51. Fresh fruit contains 68% water and dry fruit T A 2| T IHH T 10080 TR A= €
contains 20% water. How much dry fruit can be IHHT T F f?
obtained form 55 kg of fresh fruits. Q 58. Inaschool ratio of number of boys and girlsis4 : 1.
qeT B § 68% T © 3R q& ®A H 20% T 75% of Boys and 70% of girls got scholarship.
2.4 55 fFm e well 9 fa @1 w T Find the number of students who did not get any
T e ) scholarship.

Q 52. Income of a person is increased by Rs. 4800. Tax R ﬁ T R w gl aiqul?[ 411
rate decreases from 12% to 10%. Payable tax is 21 75% TTeeH! 3R 70% TefHAl Bl BEE e
same'as before. If in both cendition 20% of income g, @ U R o= R CEEI Il
is tax free. Find his current income. BIAt?

Tk Afad T 3T 4800 &, 9 Sl 2 3R et | Q 59. In aninstitute 60% of the\students are boys and
F T 12% T 10% B ST 21 AR e ggd the restare girls. Further 15% of the boys and 7.5%
& TR §1 T A aRReRE d 20% 7@ [ of the girls are gettingafe;e wzfliver. If the number

of those getting a/ fee waiver \is 90, find the total
T 21 3W A F AdHIE S R L number of students getting 50% concessions if it

Q 53. Income of a man is increased by 1800 and payable is given that 50% of those not getting a fee waiver
tax is decreased from 18% to 15% in both cases are eligible to get half fee concession?

29.95 income tax is free. Find initial income. Teh s‘ﬁdﬂldjid T 60% clgch F 3L 3w GEER 2
T AR I AF 1800 qF S T I STHI 15% TAGH! hl q 7.5% ASHA B B F T
IR 18% H 15% ¥ St =1 e AT fearfr § & S @) B b T ® R s0% e @
29.95 P YR B € A1 IHH! UKW S ST B A e e W R R 50%. see fSen
R BN wE H g2 Tl el S el w g2 & fag

Q 54. Income of a person decreased by 3000 Rs. and rate RURI
of Income tax increased from 15% to 18%. The | Q 60. The sum of income of A, B and C is Rs. 72000. A,
ratio of paid tax is 3 : 2. 26.5% income is tax free. B and C spends 80%, 85% and 75% of his income.
Find initial income. The ratio of their saving is 8 : 9 : 20. Find the
T AR HT A 3000 T FH € WA ¢ R mcon;;;fA' e
PR HT W 15% T 18% B Wl &1 e o A,B SR CH1 S F1 A 72000 . ¥ A, B ¢
T T BT ST 3 1 2 Tl 26.5% TR T T T ST 80%, 85 SR 75% @
& SEEt IR s 9 TAHT o= T UM 8 : 9 : 20 BI Al AT A

forat 82
QSs. &i fneomets Rs 20.000' Ispent 80% of my income. Q 61. A number is divided into two parts. In such a way
en my income increased by 20% then I spent N N
Rs. 5000 more. Find the increase in my savings. that 80/(;) of first part exceeds 60% ?)f second part
by 3. 80% of second part exceeds 90% of first part
T 3 20000 % T OEY SUE @ 80% @H by 6. Find the number.
fedll St A e 20% R T T, @ H 5000 . T T B S A § T UER A TS
st e B el @ gfs % ST H{ F=a A+ TES T 80%, ST A H 60% ¥ 3 A B
wier 1 87 e A AT HT 80%, TES AT o 90% W 6 37k

Q 56. A father gives 1% of his monthly income to his 21 @ 9% den s
2 sons. He giv.es 80% of that amount to his elder Q 62. In a city 45% of the men are married and 25% of
son. From which he spends 80% of the amount women are married. Considering that nobody is
that he acquires and his monthly saving remains married more than once. What percent of
Rs 20. Find the income of father. population is married?
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TF IR B SHEET H W 45% STRH qq 25%
I iR €1 e wed g f et ot et
AR 3R A TH @ SR W T H | S
% T R wRvE S e 3

2
There are — men in a village and the rest are women.

Q 68.

T URER W =1, e, S @ S Sl e
TE w1 I 12 2 17 : 3 21 3 agel B g
" 20%, 30% 3R 50% 1 gig e St €, df TRER
F1 FHA fohaT @@=t 9g SEm?

In an examination, A secured 25% more marks than

Q 63. 3 B. B secured 10% less marks than C. C secured
80% of the number of men and 70% of number of 25% more marks than D. If D s.ecured 320 marks
women are literate. 40% of literate men and 30% out of 500. How many marks did A secure?
of literate women are graduate. 20% of graduate Th q0em § Al B hl 3TN 25% s 3fd
men and 25% of graduate women have government fiell S99 B 1 C Rl 27987 10% 9 i Hal
jobs. Working population of that village is what CH DF e 25% i i faeh Ak D
percent of total population? . - .

. . 500 § & 320 3fh foct & @ A foRad o®
fopelt Tifar & <-foer @9 € 9o 9 wiEew € g

IS §0% 7R i ‘ﬁ - Q69 Th" bate of 15% if electric bill id i
710% S p— S — i . ! ere is a rebate o oif electric bills are paid in
k) ime. A man got a rebate of Rs. 54 by paying the

1 30% I TN IUE TEW H 20% FoA I bill in time. His electric bill was:
H%waﬁmzs%aﬁwﬂ‘m ?ﬂﬁ%\?ﬂjmaﬁ freh % B 9 T wE S e
Tt 5“{5’5%7 R VST A STHEA B FE W 15% T2 I T T qEER, A e
P AR &7 =fed 1 =g ¥ W oo foa &1 e

Q 64. II} tl71(e)> (;ecent, cslg(r)late confereér(l)c(:)e 11}11 .III(;:W York,lout HE W 54 % BT BT faeft =1, dt Seht farsrett &1
0 men, women, children present 5
inside the building premises, 20% of the men, 40% \ § ¥ _
of the women and 10% of the children were | @ 70- To pass an examination a candidate needs flO%
Indians. Find the|percentage of people who were marks. All question LIy equal marks. A candidate
not Indian? ]1;tst pe}['ssedlgy fg::}:tn:gt 110 ans:vers ISIorrect by

. . - attempting/15 of the total questions. How many
s a; g&;“%ﬂ?@ﬁ 700 Hl, 500 ) 332; questions are there in the examination?
T % 3 Eri % H %EI q
8O?ﬁ' ;Ogﬁ %;%/qﬁ forelt srrell = U e T wA & AT 40%
10;{.; :@.'9} o1 STt b} o), STETERAl B €1 Wl pl & i qEA
Eﬁ" Rl ! B B el 15 WAl § | 10 T SW Ww
. . 0 )

Qo65. If the‘ numerator. ofa fre}ctlon be increased by 20% o @ T 3 e § el fFaY T B2
and its denominator is decreased by 5%, The | .

Q 71. |In a test consisting of 80 questions, a student

fraction becomes 3 . Find the original fraction. answered 75% of the first 60 questions correctly.

2 . The percentage of the other questions she needs to

forell for=t & ofer o 20% *1 Ifs T & 7 5% answer correctly so that her score on the entire
1 i s 5 S 3 " examination be 80% is :

R Sy ISR Tk TR el 80 U9 € 3 Wekeh WY 1 37k

¥ 21 ek forenefl wem 60 el H 75% el w UM,

Q 66. Ifthe numerator of a fraction be increased by 15% o 39 W 99 ge 6 9 foRad wfov @
and its denominator be diminished by 8%, the value W T B o o wher § 36 80 wfavm

s 3 e =i?
of the fraction becomes 6 Find the original | Q 72. An examination consists of 80 questions carrying
. 1 mark each. Arpita answered 65% of first 40
fraction. o ) questions right. Find the percent of questions she
g weh o= & 39§ 15% i gig 3R e H 8% needs to get right in remaining questions to score
15 75% in the examination.
T A FT S, T SER AT S 80 Tl % TH T H UIAF WA | b H B
T T 37 AT 3 9om 40 Ul H W 65% YAl & W IW

Q 67. A family consumes Rice, Daal and Wheat. The ratio feel 2w 40 weedt A 3@. T A H.E ¥ wl
of its expenditure is 12 : 17 : 3. If the price of F wifed e R = | a8 75% Ak W H
those commodities increases by 20%, 30% and q&?

5 0% respectively. By hOW much expenditure will | 73, A businessman, had income in the year 1995 such
be increased of that family. that he earned a profit of 20% on his investment
Contact No.: 9555202436, 9716761136 7
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in the business. In the year 1996 his investment T B H 55% TSI AE, 45% HIGT A0 40%
(Income = Investment + pro 1t). as t at‘ n . FH ik Y T 25% T S i S
Thus the percent profit earned in 1996 increased ¥ ¥ 9 9 e e
by 26%. What was his investment in 1995? s a I 15% A 3 w 5 g )
TH AME H A 1995 H A IHF AR & ﬁ'ﬁwgﬂg,i@?;ﬁwxﬁ =i T
o1 & 20% o9 &% SR gl 99 1996 H 39& ® | ‘
FEY 5000 T FT 9 W ITHT TR 1995 F T Q79. Populatiqn of a village is 5000. If there is an
2 & off — - increase in male population by 10% and 15%
(s = + w1 S ) increase in female population then the population
1996 W 26% @ Ifs §'§I SEhT ad 1995 H becomes 5600. Find the number of males in the
e fopam em? village.
1 g kT Hel SFEET 5000 T AR TEO HI

Q 74. Difference of two number is 1660. If 65% of one QEF F 10% ;ﬁ'{ ot # wem F 15% # 3fE
number is equal to 8%% of the other number, the Ql \_rﬂ?fl ar .3 qeEA g@qg{ 5600 &l ST T H
smaller number is : 080 3 laﬁ ¢ wll ! 2000, If th

. . . . 80. Population of a village is 0. If there is an

il Al FT AR 1660 T A TH 1 increase in male population by 10% and 8%

61% T HEn F 81%$ T q@ B increase in female population then the overall

2 N 2 ’ population increase is 9%. Find the number of
e, €7 males in the village.

Q75. Ina cle;ss 70% of studepts pass in English onam forelt T2t 1 SHEEn 8000 o U a¥ A W
and 65% s.tu.dents pass in Maths exam of 27% of 1 SeEE H 10% qen fed 31 Saeen o 8%
students fail in Both subjects and 248 students pass =5, of = 3 9 =
in both subjects. Find the total number of students. 71’@ b N aﬁ‘_"&_d . & T{F@ I S¥
T kel H) 70% fomneff et 7 Seivl B § BN o .

65% TR & Tl B 31 Atk 27% franed S § Q81. A person after paying 10/ootax, spend 204).ofthe

. . remaining on education, 25% of the remaining on
ERY of E‘a &1 iR 248 foreneff < foredi g Sl food. After all this expenditure he is left with
T B, @ o fafiEl #1 wen fead 82 Rs. 2700. Find his income.

Q 76. Inaclass, 80% of students pass in maths exam and TH Al & da4 1 ° 10% X ghH & o, I
73;? otf sftu.;it.ant}s3 piz}ilss ?E?glisg inE. L(l)zf’ 2f T 20% TR1&m W q W H 25% S T GH
students fail in Both subjects and i students ﬁ S\ = wel e @ R —
pass in Both subejects. Find the total number of :
students 2700 % S=d FY dl 3T Al H1 daT Tl

. . N . .
T e 80% feranelt ivra s g R 70% Q 82. Sameer ipends ZfM) ot" his mor.lthly 1n:0me on
S St g AR 10% FEnel < e food, 15% on children's education. 25% of the
) 10% ) o remaining is spent on entertainment and 20% on
argeiol gU & iR 144 formnefl AW fawe o Sl travelling. If he is left with Rs. 10736. Find his
TU El, @ et foenfial s gen faad 22 monthly income.

Q 77. In a village 60% families have 1 cow and, 30% TR 7o WIfE ST T 24% HISH W SR 15%
families have 1 buffalo and 15% families have both o Y e W = e 21 99 o d ° 25%
.1 cow and 1 Buffalo. If there are on%y. 96 families TS R 3R 20% TREE | @E w3 Ak
in a village. Find the number of families that does ﬁ = a %
not have any cow or buffalo. s 111; 10736 = ’

o . fraTt ©7

T T F 0% TRER B T 1 T SR 30% o '
TfEr & U 1 99 21 15% 9Ra & 99 1 T Q 83. ll:rom the tsall:;}/ 01%311 ofﬁflel:r, IO%dis dedgi:fd a's
. . o A ouse rent, 15% of the rest he spends on children's
R 1 g ﬁ:ﬁ &1 7R i A ‘cb,_c'f 96 . s education and 10% of the balance, he spends on
Fo URER % T A d wB T 2l clothes. After this expenditure he is left with Rs.

Q 78. Inacompany 55% of workers drink tea, 45% drink 1,377. His salary is
coffee anq 40% drinl:. Mi.lk 20% of workgrs drink T ST P 3 H 9 10% R b H 61 &
tea and milk both, 20% drink coffee and milk both, ol AT S E_s; T F 15% TS F TR
25% of workers tea and coffee both. 15% of =< E Y =
workers drink all three beverages. Find the A fehefl el T T 10% T
percentage of workers who do not like any of three W G fomal S R STH TG 1377 & 5
beverages. 21 SHH! A T H
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Q 84. Santosh spends and saves his income in the ratio M Y Yok FE F T 40% q= oTHl & T
8 : 5. He spends 20% of his expenditure on food F U T ol ® T g 30% gfg fhq AT
o . . .
and 40% .of h1s‘expe.nd1ture on clothes. He deposllts % e § 50% B FH F T 3 oft Y fa
60% of his savings in bank. Money spends by him A = s VAN
on clothes is what percent of money deposited in @ Sl = i % W
bank. % SR A A I, Tk g o B qed
Tl SO S H 8 5 U § HAA: T Teherl T RE gaT?
F T a9 a9 21 @ ) saret ufn @ | Q 89.  Percentage increase in cost of sugar is 2% more
20% T AT W A9l 40% T GE g W @ than mﬂa.tlon percentage. On January 1,2004 cost
. of sugar is Rs. 20 /kg. In each year i.e., 2004 and
F B A FT ST AT R 60% FF AF A 2005 the inflation rate is assumed to be 8%. Then
S HT A B SHE N O W WH B T find the assumed price of sugar on January 1, 2006.
Tfr, s ST kT TR Al A fhae faea €2 i % e W s W, R 2%
Q 85. A person has some amount with him. 25% ofits is Sifirek I T ST B0 SHE 1, 2004 b1 =T @1
. o) : . .
stolen in a bus, IOA? is 10.5t through a hole in the T 20 &R 3 g% T 2004 9o 2005 T
pocket, 50% of remainder is spent on food. He then ) 3 @
purchases a book worth Rs. 26 from the remainder. 8% 4 R g ) AU
He walks back home because all his money is over. HIT SR 1, 2006 § <t 1 STIAIT qA
What was the initial amount? foraen grm?
T AfK & T HB IR0 TIEHT 25% a9 | Q 90. A report consists of 20 pages each of 55 lines and
F 7 feran S £ 0% 59§ § iR - 21 5= each such line consist of 65 characters. Thisreport
’ is reduced onto page each of 65 lines such that
T RN\ 1 50% WioH WA S @ 6 9w . )
each line consists of 70 characters. The percentage
T 26 %, 1 fohqra 2 THh 1 ST T reduction in number of pages is closer|to
S R SR SR e fidie § 20 99 ¥ SR weiH W § 55 e
Q 86. ;\ f;lanfha;i a certt)ain amouqt 1vvith }(;iril(.)ol/{e ?.fpe}rllt T ok TOF @ T 65 steN 31 39 Rue & 65
50.0.tatt0 uy an article an o of the %@uﬁrﬁﬁmw%aﬁt@%@ﬁmam
remaining on clothes. Then he donated Rs 531.25. 5
If he is left with Rs. 8000 the amount he spent on ' @ T fop fopart wicwra ot 0 e
the clothes is eli?
T SR UG HB 1 21 a8 39 i1 1 25% | Q 91. [ Therate of increase of the price of sugar is observed
T o w@iE ' w 3 qen 9w T to be two Percent more than th.e inflation rate

. S 3 fme expressed in percentage. The price of sugar, on
10% asT | SUL e 531.25 % S January 1, 1994 is Rs. 20 per kg. The inflation rates
F @} I AR ST T 8000 T I T, I of the years 1994 and 1995 are expected to be 8%
IUH gN HUSI W @ e T T fohad ©? each. The expected price of sugar on January 1,

Q 87. A family's ratio of savings to expenditure for last 1996 would be :
month was 2 : 13. This month, due to unforeseen < % oI H 9ed i I HeE & X 9 2 Wi
expenditure, savings fell to 50% of the amount I AT HT ST 21 1 SHE, 1994 1 =
Fsral:/.ed last:llz(zllth. Salary, last month w?sllzi/ 1(.),00}?. T 20 T T 311994 3R 1995 § Temé
t

is mon ere Was an 1nc.rease 0 % in the = g0 o | W 1 & 1996 <R

salary. How much did the family spend this month? i -
&qd | R ?
Teh URER 1 a=d 3R @ 1 S e JEH _

) . % 9 50% 9 2 St Q 92. Every month a man consumes 25 kg rice and 9 kg
2213 ¥ =N ° wheat. The price of rice is 20% of the price of wheat
21 froe TR SEHT S 10000 . off| 39 wEH and thus he spends total Rs. 350 on the rice and
IGdT 3T 15% EE) TE| 39 WA &1 E@E 1 - wheat per month. If the price of wheat is increased

Q 88. Cost of packing of mangoes is 40% of cost of fresh b}' 20% then "f’hat is the percentage réduction of
mangoes. Price of mangoes is increased by 30% rice consumption for the same expenditure of Rs.
but the cost of packing of mangoes is decreased 3507 Given that the price of rice and consumption
by 50%. If cost of packed mangoes is equal to sum of wheat is constant?
of cost of fresh mangoes and packing of mangoes YIF TEH TH STEH 25 o =maa 3R 9 fem
then, find what is the percentage change in the cost ﬁi""ﬁ T Ud H & TEd R Hd ﬁiﬁ Fd
of packed mangoes. F 20% ¥ R 7w SR TG W 9 T
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350 % @ F 2l AR g Y HHd 20% 9 St | Q 97. A person gives 30% of his income to his elder
i daughter and 40% of remaining to his younger
| 79 98 =ad H @ud H fohad gfaed wHT b re g young
o i 350 % & @ | welh wEe #1 qe daughter. And he distribute rest of the money
i W = from 3 equally among his 3 sons. If each son got Rs. 672,
ﬁ§ ! then how much money did the elder and younger
Q 93. The price of raw materials has gone up by 15%, daughter got?
labour cost has also increased from 25% of the : .
cost of raw material to 30% of the cost of raw hsd ST FT 30% FEI AGHT FI A
material. By how much percentage should there I T 40% B ASHT HI T e
be reduction in the usage of raw materials so as to ¥ 1 I T T T H SRR sie 3dT 2
keep the cost same? afz Y&F T F 672 % A @, a €t q:n
%i &l a—@; e Wj ; laﬁil % W;Tw B AsfRal ®I fhai-fhat T0a foer?
| HS %I’ Eﬁcé % EB' Hc ENEL
FIE < 25% Q 98. 40% marks are required to pass an examination. A
offl af 3T TEHL Hed HA & 30% HEA D 10% 1 Ks from th . B
A @ e got 10% less marks from the passing mark.
ENELN Fed gua fhdt gfaera
1 3
A FI S A6 %G hT HAT T @ gotllg% less marks than A and C got 41ﬁ%
Q 94. Inafactory there are three types of machine M, M, .
and M, which produces 25%, 35% and 40% of the less marks than (A + B). Find out marks percentage
total products respectively. M , M, and M, produces of C.
2%, 4% and 5% defective products, respec- et when o S0l 89 & faW 40% % ww
tiveclly. What is the percentage of non-defective FC afEd 21 A Y Sl | 10% ®H 3TE
products?
@ﬁﬂ@ﬁ?ﬂﬁwaﬁwﬁﬂMl,MZaﬁim mmlB,Aﬁllé%wwwmaw
 Sifeh et a&q3H 1 HHAA: 25%, 35% AR 40%
W aq—{?ﬂ- aa ls 4 00 00 . 3 3
%'MI’MZSﬁTM% 2/'4/@1 CH AR B & 3ih &1 41—% %A 3
5% BN U ICAE hLdl 1 HE o i 17
EIENGRIISIGRE R < T T T C fofae wiaem st @
Q95. Connie has a number of gold coin, all of different | Q 99. Five question were asked in an examination. 5%
weight. She gives the 24 lightest coins, which weigh of the total examinees answered all 5 questions and
45% of the total weight, to Br.ennan.o She gives the 5% of total examinees' did not answered any
13 .heaV1est coins, Whl?h weigh 26% of the. total question.\25% of the rest of the examinees
Welght’ to Maya. Sh? g1v§s the .rest ofthe coins td ansyered only 1) question and 20% ‘answered 4
Blair. How many coins did Blair receive.
: 1
FA % T HD WA B fon E S fF srem questions. 245% of the total examinees answered
IR WR & &1 98 24 Fa9 eoh TGah, S Had
TR F 45% 3 T F 2 2 T 97 13 T 9 only 2 que}sltior;s. dlfh200 elxarnigees fanswe.red 3
| el R HT 26% % TP T % A %I air questions, t én ind the total number of examinees.
T T g i R H R A 3w ferelt e & 5 ¥ 3 T H Waneft 7w s
frqy foss firel? F gft geel @ W A q 5% A fE off weA
Q 96. At the beginning of a year, the owner of a jewel & SW A A g wenedf #1 25% |
shop raised the price of all the jewels in his shop Teh §9 1 ST &A1 3R 20% H AR YA & IW
by x% and lowered them by x%. The price of one
jewel after this up an(.i down cycle reduced by Rs. fru) |l qdrenfert @ 241%—;} o B fRu
100. The owner carried out the same procedure 2
after a month. After this second up-down cycle, Ifg 200 whaneli 9 we & S R @ @ 3§
the price of that jewel was Rs. 2304. Find the T T e ShS e wimtem wu
original price of that jewel (in Rs.) v ) e
A F YT F T WA W S Q 100. A number N is d1v1dF:d into three parts such that
sum of first 2 parts is equal to K% of 3rd part.
X% &I A1 & 3R T x% T <l €1 36 5ied 3 What is the 3rd part?
iRl & o8 Th 9001 BT FHD 100 T T . aﬁeﬁ-;rwﬁﬁ . 5
It 81 WAR 7 Th HEH 9% T8 qihar el - a‘[;ﬁ s mwagw
W 0, ?ﬂw
3R 379 IH YT T HIHG 2304 T & T il i RSSO
SO T IR HHD T B AR
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Q 101.

Q102.

Q 103.

Q 104.

Q 105.

Q 106.

A factory produces 3 types of toys in the ratio
5:4:2.10% of the produced toys are destroyed.
40%, 30% and 20% of the remaining toys are
exported. Domestic consumption is what percent
of total production of toys.

TF el dF YRR & fEdn s § et
ST 1 STA 5 : 4 : 2 T SefEd fad |
T Y% YHR & el &1 10% T & S 2
oW fac w1 FE: 40%, 30% IR 20% fEi
feran Sar 21 |l faetHl #1 | el @ud Tt
SN Sclfea el faelAl @1 feman wiaea 87
When P litre oil is poured into a vessel, the vessel
remains K% empty. How many litres do we need
to pour in the vessel so that the vessel is full. Also
find out the total capacity of the vessel.

P Al ot W TH qdA H Sl S © qd 9
K% @reft Tear 81 SuH fha ofieX ot 3R <
S fe® foe @8 qoid: sX ST 9o 98 ff 9
HE o 3§ o BT e o 82

A team plays 40 matches in'any year and wins 40%
of/ the \matches. Next year the team won sum
consecutive matches and the percentage of its
winning \matches becomes, 80%. [Find out how
many matches did the team win consecutively!

ot oY Wk fopehe 48 40 T Bedl qen SEH 9
40% 9 ¥ 39 Sfiq fieft| el oY 98 W AR
% T S} aen SHeh! Sita 1 gfaer 80 & T
€ AW oaR fehaen #= S ?

Price of an article is reduced by K% and the
reduced price is increased by K%. If present price

P
is 100 then find out the initial price.

fehdlt a%g & Tod H K% = f&an s & qen
2 gU qod &I [z K% U =g & s 21 afg
P

100

There is a 800 gram mixture of water, spirit and
alcohol and their quantity is 20%, 30% and 50%
respectively. 40% of the spirit is evaporated and
80 gram of alcohol is added. If quantity of water is
increased by 50%, then find out the quantity of

TAAE T 81, @ YR g F en?

spirit in new mixture.

T o ur, feafie qen sTohied i e a1
800 M THfs@ © den SEH SHH! WET HA:
20%, 30% T 50% €| Tagor § | 40% feafe =i
Sg1 T S ® den 80 UM Sfehied SR T
fean Stran 21 afE ot B A0 @ 50% @ w@
fear S, @ erw fmufe =t W Au faswr =
fopa wfde 272

There are two numbers. When first number is
increased by 125%, the obtained number is 300

Q 107.

Q 108.

Q 109.

Q 110.

less than second number and if the first number is
increased by 150 then the obtained number is 200
less than the second number. Find out the sum of
the two numbers.

q HEMT B| Ve Teel W@ Hi 125% § 5@l e
ST § df 9% We g TEA ¥ 300 ®H © W
2 oifere afs veel W@ &1 150 | @1 e s
¢ 99 9 Ge gHd gl 9 200 F9 e S 2
3 A gt w1 A 82

Four vessels are kept on a table in a manner that
their quantity keeps on becoming 3 times when
measured from left towards right. 25% of the first
vessel, 30% of the second vessel, 40% of the third
vessel and 20% of the fourth vessel are empty. If
all the four vessels are emptied into the fifth vessel,
then the total quantity is what percent of total
quantity of the four vessel?

IR T hI TH IS W T WE @ T § E
I &l d1F A B S € S ew 9el o
T 3R WO U @0 21 Tl ST Rl 25%, TR
T, 30%, TR BT 40% TG <1 i, 20% FAT @reft
B Az gft o+ ® Rl B A S H S
f<a ST, A1 3EH G H g 7E 39 AR FdA
1 el ARl WS 1 feha e 87

A house-owner was having his house painted.
He was advised that he would require 25 kg of
paint. Allowing for 15% wastage and assuming
that the paint is available in 2 kg cans, what
would be the cost of paint purchased, if one can
costs Rs\ 16?

Teh HFHH\Hifelsh | SR I U FHLen @I -39 25
TRl Ue | i el T o1l 4l | e |
2 fopeim te @ @ de'W e fhaar @ e
I 1 & B G 16 . T 3R 15% e =7ef Fir 2
Vishal goes to a shop to buy a radio costing Rs.
2568. The rate of sales tax is 7%. He tells the
shopkeeper to reduce the price of the radio to such
an extent that he has to pay Rs. 2568, inculsive of
sales tax. Find the reduction needed in the price of
the radio.

faene Tk M W T A wied w et
HTHd 2568 T T Tkl H 7% B 98 THFRR G
e HH HE F Fedl ¢ qMh Y 2568 T &
72| 39 feA #1 ®ma 7 fhad wH w W=
fer 39 A & wEa A TR

A screw driver and a hammer currently have the
same price. If the price of a screw driver rises by
5% and the price of hammer goes up by 3%, then
how much more will it cost to buy 3 screw drivers
and 3 hammers?

T YuHY 3R gig F Iod SR 31 AR Tawy
H A 5% g1 KO A SR gl H qod 3%
a1 e W @ 3 e @R 3 BUie wlied |
fopat T g S 272
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1. Rs. 4200
5.31000
9. 16800

1
. 23—%
13 37

17.Rs. 32500
21. Rs. 60000
25. Rs. 50000
29.5%

33. 14.68%

37.45%

41.3%

45. Rs. 20, Rs. 24
49. 35 bananas
53. Rs. 9000

57. Rs. 20000

61. 135

95
" a8
69.Rs. 360
73.Rs. 105000
77. 24

65

81. Rs. 5000

85. Rs. 80

89. Rs.24.2
93. 17%

97. Rs. 1344
6

. 60—%

101 T 0

105. 16§%

109. Rs. 168

ANSWERS

2. 54 3.270 4.150
6. 1980 7.27500 8. 25000
10. 6200 11. 25000 1275000
2 2000
14. 66=% 15.28 : 25 16. =%
3 1
18. Rs. 35000 19. Rs. 46000 20. Rs. 34000
22. Rs. 48500 23. Rs. 63200 24. Rs. 60000
26. Rs. 100000 27. 15%, 12% 28. Rs. 6.40
30.20% 31.34.07% 32.20%
20
34.25.7% 35.163% 36.3.5%, Rs. 27
38.Rs. 8 39.30% 40.25%
1
42. 15.85% 43.7% 4.17-%
46.450 gm 47. Rs. 18/l 48.Rs.36
50.120 kg 51. 22 kg 52. Rs. 28800
54. RS. 6750 55.25% 56. Rs. 12500
58.26% 59.330 60! Rs. 16000
1
62. 32 % 63.6.01% 64.79%
66. > 67. 28~% 68. 450
. 4 . 8 0 .
70.25 71.95% 72.85%
74. 5395 75. 400 76. 240
78. 10% 79. 3000 80. 4000
2
82. Rs. 32000 83. Rs. 2000 84. 1065 %
15
86. Rs. 947.916 87. Rs. 10833 88. %
90. 20% 91. 24.20 92. 36%
94. 96.1% 95. 15 96. 2500
98. 40 99. 800 100, — N
‘ ‘ " K+100
102, = 9P 143,80 mateh 104, 0
" 100K '100-K O maenes * 10000~ K>
5
106. 430 107, 742% 108. Rs. 240
110. 4%
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